


off LgtA £

2
=

Ut 7 3

— |

[ NV

ol
ojn

7t

— e

AN







3 4
11--4-
7 5

) 21 19 22 22

4— — 2— — —

@ 18 @ 844 ® 24 @ 635 © 535










InjNe

+1




ol A2

ol
[

al

ol 1 Hr} &

o)

ol



2
48019 BRI 42 kgol T, ooz HEolH T} 92 kg o £

St oluU Y BRAL @ kgQU7}?



2 e REe 49 Atz

1

[e]
73]

7,

o}, me}



11. #HollA LAI=74A &) A= Heoll A Bh7kA1 9] A= Eet E km H

a7
< ™
A= & k!
S8y T The 9 T
1 4 33
—k -k —k
A S
@ —km ® —km



12. ol 47139 E212) Zol7 ol om YUk W L2 Polt

A7

39
@ 3=cm

1
@ 4Zcm

1., —-21___65
/360m 29(\:m
N\
4 \
/ \
v -
11 23
4— 4—
@ ggcm ® 75 €I
® 4—cm

™
=

cm









15, the 15 FolA 7P 2 B0l ke el gk 218 Aeley 2
o]—/\]







17. g AolA mof] 52 = 25 2 AdY7R

@D 178 @ 270 ® 371 @ 57 ® 670



1 1

1

1
25T 12 0 30

1



19. of® ol 3° & W % 1248 EsfoF & AL FRoko] o o]

3
37 =

=g
c

st

F 124 8 We 8 o Slgieh. vh2A AL,



mlm

Fo A7 1 2 o, A dukeluizk




thE 208 Fot A} A

to] 2 wi7h2] 29 A7k

23

Feol7t A4g Al

g §
P55 ey AL,

TIL
E

~



22,

%ma}a 7 9 A %mu}a oA, 3% I

ofo]A o7k 10m ¢l 5 TS oofA] & FiEe BF H m=

sfioF g7k

B .



23.

Sof oJi o BLA} 3gkg AUt FEol7} AA 2ol

Lol 2 D Eplo
Hhe AT Y 2ol = e #A= 25 ke o] HF U Hl =57



AL,

S

zo] Zojrrt 25cm 7} o B
27

&
off 712l ld 9] Zo]

aolo
~a
a
uy
P33
= op
TGS
o N
N __O._
o %
TH o
#q
olJ <[z
1 RonS

cm



25.

s 1ol Mol Z1o] IF 5L 42

o 2 e B
uA e wAe

5ol Zare] Ad 7

SRR
c

1 o

A €]

&}t Al 7HA o Heksd

AR g A ] %



S

<t o
o
a0

— o




44
" 45

= |

457 457 45"




28. A£40,0 &7 IS 940 =2, 0+0= . 0+Q =
A ), A B4 AR T2

o e
o e
(=g



29. =0, 0, Ol &% 5 Aefdlz FohA 2

(e >0 >0




30. o2 AS A-FSH] s Al Ads 9, ©, ©2 A g2 kA L.
(&, >0>0%4rt)

S ES
S ES






32. TRt Zo] QAT o] wet of

245 Soliegkaurh. 174 W]
Sl 49k 187) Bl 9l 0] e

1 1 5 1 1
18-, ---
176, 172, 176, 186, 82




141 719 o1l &gl A= A

Sl 471 41

2P of
7w

33.

s =& lgely

=z
=l
=0



